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� 1 ൅ 1 ൌ 2
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� 𝑟 𝜋𝑟2
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� 𝑥 ൅ 2 ൌ 3
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� 2𝑥 ൌ 84 𝑥  
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________________________________________________________________________ 

 𝑎, 𝑏 𝑐 𝑎2 ൅ 𝑏2 ൌ 𝑐2

________________________________________________________________________ 

 𝑎, 𝑏 𝑐 𝑎2 ൅ 𝑏2 ൌ 𝑐2

________________________________________________________________________ 

 𝑥 ൌ 1

________________________________________________________________________ 

 𝑥 𝑥 ൌ 1

________________________________________________________________________ 

 𝑥 ൌ 1 𝑥2 ൌ 1

________________________________________________________________________ 
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https://en.wikipedia.org/wiki/Liar_paradox
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2 is an even number 

𝑁𝑜𝑡 𝑃

� ________

� 

___________________________________________________________________ 

𝑷 𝑷
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 𝑓ሺ𝑥ሻ ൒ 100 𝑥 𝑓ሺ𝑥ሻ.
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